od
i’
oF
uJ

—

1)

all
10{
™HKJ
R0 Kk
Wz
0 70
W KO
w.m.a o)
ERYLU
& Rr
%0 <F 7D
150 R0 1of
o o <0

|.IA—P__.I
I+ &0

X XH
&t

[l el Ne) (@l Ne)
e [g[EE[Ee & [EE [E[E[8 JEENEEE 1EE
o |||~ I\ Do |m s s — =1 —
M8 A R R R 21917 S a4
EMN NAIRY <)< 4
=<
D
([e)
2 g1818|818 &8 |BIE |EIEIE |B|BIE |B|E|E SElE g8 |88
N = 0|0 | ol|lw|w — == olo|lo 0| v — |~
war |8 BIR|®|S |8 ® 5|55 SEIE il
WL | T e
RIS
secessslalee e als|55|8[a[8 &|2(2[2 &[z[g(E & & &[g[E[E 5 5[g[E &= ]z ¢
ol Kac) Koo} S o ™ ™ || flow]lo|lvu v © W0 J|lo|lo v <« > —
SREEg SISV v RRER ® 555 5 81818 % = &7 B
T o © 9|~ |— Al Bl R
<
S
rom
or i
0 RO
m._ o)
. W
Y = _ @ .
= = o < 0 0
I+ w_a = % = K
=z 30 ur fo | RD T o}
- o o = D = _ i
= oll - o} n o ) | < % - z ¥ -
o o | =) | X0 ® U o FLN I Y oF | %0 il a k| R @ oK | K
7 nEE | L x| [mEE| [Bslp) | zE2| BEks | 28| k3 |53k
0 R0 [ o | = = = o = | Nt AN RS _ = o D I
o wlRMslsas S (mr S|le| |z w|E R0\ G|mo o moo Y B sla =lmlr 2P|
. e e T e e Y =l b= 4 I Wim|=|F 2 WX |5 &R X Rs S|
& e [ R | szo%.&@%mommEOT%:EW%EEUMU@ S R0 \KE K RO | W
0 Sl oo o< R s < XA A @0 0] TRk S E S S R g E s < &5
' | Rr|BU|ol|=< MW @0 MO0 |ou |0 W0 |zr|o)|a) MOk | |H @R W T W (0 oW s |< ©|ou|® W
N Alarjur|s|ls © 8 © |5l Qi |s|ly Ol |gls Olo|gly © © Ol |a|s © Olglg Olg|= ©ur
X = W ||| & | @ T | & | @ o< & & o
I+ ﬂm Aﬂ __rouv A0 A0 el o il A0
K 0| <
70 ol
ol

- 684 -



A SEE
HE: BRLCAM (B /BIBSUY)
ciel: ASEAN SARY 2 (crof:m2)
SN - ZB - C9(B) - MRAMY - BES ol by e HlmS2
202 Ot 1,800 1,800
01 =LHOBI 1,800 1,800
oS HRFA 1,800
SHA=SX FE (/g2 ds) 8,550,720 9,276,540 AT25,820
= 280,636
s 6,612,000
= 1,658,084
SEEA oM A 8,550,720 9,276,540 AT725,820
= 280,636
= 6,612,000
= 1,658,084
SUIGHRMME 2 (2HEEX) 15,640 7,000 8,640
308 RXIHMSOIH 15,640 7,000 8,640
01 AXSHHEAEES 15,640 7,000 8,640
OAHIHPHNE 23 15,640
SHEBAHE XEHEAIY =&(21) 561,272 100,000 461,272
= 280,636
& 280,636
307 2Iz2+01 ™ 561,272 100,000 461,272
= 280,636
= 280,636
02 QIRHEAAIHE B = 561,272 100,000 461,272
OB AHME XNSHEAIY F& 561,272
= 280,636
= 280,636
FHUAHNE SILEE MM 10,608 10,140 468
308 AXIHMSO0I & 10,608 10, 140 468
01 XN BAELS 10,608 10, 140 468
OFUHS SILEEE M 10,608
ZdlOIE M2lX&A(=1) 7,934,400 9,122,400 A 1,188,000
s 6,612,000
& 1,322,400
403 XtXISHHSKHE01 A 7,934,400 9,122,400 21,188,000
= 6,612,000
= 1,322,400
01 XIXISH A= E X 7,934,400 9,122,400 A 1,188,000
O=¢d0IE XMelkl& 7,934,400
s 6,612,000
= 1,322,400
FUAHSOIEAE SFMA 25,200 37,000 A 11,800
308 AXIHMSO0I& 25,200 36,000 A 10,800
01 AXIEHBLEES 25,200 36,000 210,800
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2A:
X XH -
o e

=aak

SA - ZE . BRA(8) - HRAR - BES of v e HIDE2
403 AXIEHMSAH=01 1,793,040 4,615,280 N2,822,240
= 1,446,000
== 347,040
01 AXISHHA 22 % 1,793,040 4,615,280 A2,822,240
OZXAE XX S 1,793,040
= 1,446,000
& 347,040
IIASEI(GP) BHEIA M2AFX 23 MA(2 262,500 31,250 131,250
1)
= 262,500
403 MR EMSAE01H 262,500 131,250 131,250
= 262,500
01 XIS A =2 & 262,500 131,250 131,250
OIAZEI HiEIIA NSEX 25 K& 262,500
= 262,500
FEALAHA =2 (=21) 18,846 48,526 A29,680
= 16,388
=S 2,458
403 AXIEHHSAH=0lH 18,846 48,526 A29,680
= 16,388
< 2,458
01 AXISHHA 22 % 18,846 48,526 A29,680
OF=ZLEZAMA #E2E 18,846
= 16,388
== 2,458
SE2THIMSHA H2ZAIE (=12) 550,000 600,000 /50,000
= 550,000
403 MR HHMSAHE01H 550,000 600,000 50,000
= 550,000
01 AXISHHA=2EE 550,000 600,000 50,000
O=ZMHI&MHX M2 A 560,000
= 550,000
OIMEA HHESEH =& 11,900 31,000 219,100
201 =3 9,500 15,000 25,500
01 At22telt] 9,500 15,000 25,500
OUINEX S 9,500
202 04l 2,400 2,000 400
01 =LHA LI 2,400 2,000 400
OUINEA s g2=d 2,400
IHEE N=A 22 E2ME(22) 69,120 448,560 A379,440
= 57,600
= 11,520
403 AXIEHMSAH=201H 69,120 448,560 A379,440
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2A:
X XH -
o e

=aak

rtor

=R e
o2y 2®(2/001)

S AL 2t

\J _|>|l

SA - ZE . BRA(8) - HRAR - BES of v e HIDE2

= 57,600
=S 11,520

01 AXISHHA =22 & 69,120 448,560 A379,440
OJIEE N=2A 242 22 69,120
= 57,600
< 11,520

SR HHEtA MZ(=12) 19,893,797 33,143,645 13,249,848
= 16,431,255
= 4,462,542

308 AtXIEHMSOIE 19,893,797 33,143,645 13,249,848
= 16,431,255
= 4,462,542

01 AXEN B2 LS 19,893,797 33,143,645 13,249,848
O=-=ZRXt ZIIHX K& 16,028,027
= 12,329,255
s 3,698,772
OS2 MBaoi XX 1,571,310
= 1,208,700
& 362,610
OA&IIA MBoll &X 2,001,960
= 1,668,300
= 333,660
OL=xt 2YHE AIAE A5 292,500
= 225,000
< 67,500

O2lol S&HXte LPext MEH X (=1) 100,750 445,900 A345,150
= 77,500
= 23,250

308 AtXIEHMSOIE 100,750 445,900 A345,150
= 77,500
= 23,250

01 AXEH B2 LS 100,750 445,900 A345,150
OO0{el0l SSiRtE LPaXt Met X 100,750
= 77,500
s 23,250

23012t 2 AN EX g5 |A - 22(21) 17,920 19,121 21,201
= 13,787
& 4,133

308 AFXIEMSOIE 17,920 19,121 1,201
= 13,787
= 4,133

01 RSN EES 17,920 19,121 A1,201
OE3JI12t 2 HANZEA RXl2cl 17,920
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2A:

EZH:

=l EEO:'HHE/\l EEI EER=E)
SA - ZE . BRA(8) - HRAR - BES of v e HIDE2
= 13,787
=S 4,133
OIMIEIX SYHHE g2 A(=1) 2,178,800 2,330,900 A152,100
= 1,676,000
< 502,800
308 AHAIEMSOIE 2,178,800 2,330,900 /152,100
[ 1,676,000
= 502,800
01 X SHHBAEES 2,178,800 2,330,900 A152,100
outEAdE 29 2,178,800
[ 1,676,000
= 502,800
ZE OIMSHA 22| dE X2 50,000 50,000
307 elztol & 50,000 50,000
02 2B YA E X 50,000 50,000
OZHA OIMZHA HA2e|dEH K& 50,000
HEEH fE(BH/HDIZ2) 16,729,145 42,997,334 N\26,268,189
= 9,447,800
= 7,281,345
MEA HIIZ2 SEXCC 3,350,645 4,001,884 651,239
= 1,328,800
== 2,021,845
Hol=2 &dA el 265,060 563,188 A298,128
201 Ler=23| 7,500 7,500 0
2 s5=34l 7,500 7,500 0
Ost=HJI=gal Halt| 7,500
202 O] 4,760 6,800 2,040
01 2K 4,760 6,800 A2,040
Oftd=e dist LA 4,760
308 AFAIEHMSOIE 252,800 548,888 A296,088
01 RSN B EES 252,800 548,888 A296,088
ZREITAUL 2 252,800
St 2 stAedl F3H=D) 500,860 592,500 291,640
= 443,800
< 57,060
308 AIXIHHISO0IA 500,860 592,500 291,640
= 443,800
& 57,060
01 HASHHBSEEXS 500,860 592,500 A\91,640
Odt™ot= HatAre 500,860
= 443,800
= 57,060
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FA S H

Mu: MEE M (22/HIIS)

Rl MEA HOIE EEXC (Gt &2l
SA - ZE . BRA(8) - HRAR - BES of v e HIDE2
HsAEIIZ =HHel 262(2HEEXR) 173,850 156,671 17,179

403 AXIEHMSAH=0l 173,850 186,671 17,179

02 SI12S0ItH et =& P EF A I 173,850 156,671 17,179
Os%Eld, SAF =HAY == 173,850

sEHHIE =243 X (31) 510,000 509,800 200
= 510,000

308 XXM SOIA 510,000 509,800 200
= 510,000

01 X SHHBAEXS 510,000 509,800 200
Os=ZHHlg +=Hbl XI& 510,000
= 510,000

3sdotE &5 Nd(=1) 382,500 265,200 117,300
= 225,000
= 157,500

403 XIS A=201E 382,500 265,200 117,300
= 225,000
= 157,500

01 AR A =2 £ 382,500 265,200 117,300
ossdoty & X2 362,500
= 225,000
s 157,500

Adz=g 243 X2 1,011,875 1,276,875 A265,000

201 eer23y| 5,400 5,400 0

01 AtR2t2|Hl 5,400 5,400 0
OXtd=2t 243t A& 5,400

403 AXIEHHSAH=201H 1,006,475 1,271,475 265,000

01 AXIEHM A= E £ 1,006,475 1,271,475 265,000
Ot =g 43t X2 1,006,475

Ctalgll MALE =8(=21) 230,000 325,000 295,000
= 150,000
s 80,000

307 elztol & 100,000 0 100,000
= 50,000
[ 50,000

02 2B YA R E A 100,000 0 100,000
OCtzlEIl MArE =& 100,000
= 50,000
= 50,000

308 AXIHMSO0IA 130,000 325,000 195,000
= 100,000
= 30,000

01 XN B ELES 130,000 325,000 195,000
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2A:

ey
Mu: MEE M (22/HIIS)
Rl MEA HOIE EEXC (Gt &2l
SA - ZE . BRA(8) - HRAR - BES of v e HIDE2
otaZ8Il MAE & 130,000
= 100,000
== 30,000
=T BHHDIE =AY 10,000 10,000
308 XM SOIE 10,000 10,000
01 HASHHBSEXS 10,000 10,000
O+ BHHIIZ =HAMEZ 10,000
Hes848E 83t A2 &5 241,500 0 241,500
403 AXIEHHS X201 241,500 241,500
01 AR A =2 £ 241,500 241,500
OMEEHYE 5835 Al &#E(&x) 241,500
A2 =23 2dst A 25,000 0 25,000
308 XXM SOIA 25,000 25,000
01 XN BSELS 25,000 25,000
OX =2 M 283 AHG(EF) 25,000
HIISXCIANE &5 13,378,500 38,995,450 225,616,950
= 8,119,000
= 5,259,500
23 AL EX(=2) 900,900 0 900,900
= 693,000
= 207,900
403 TtXI M SAH=01H 900,900 0 900,900
= 693,000
=S 207,900
01 XIS A =2 & 900,900 0 900,900
033 Z2oiAlE &X 900,900
= 693,000
< 207,900
MYIl AZAIE ZXI(2 D) 5,225,800 25,348,100 N20,122,300
= 3,074,000
= 2,151,800
403 AXIEHMSAH=201H 5,225,800 25,348,100 A20,122,300
= 3,074,000
= 2,151,800
01 AXISHHA=2EXE 5,225,800 25,348,100 20,122,300
OMeEID] A2AIE &EX 5,225,800
= 3,074,000
== 2,151,800
METHRS|=HE 4X X (=21) 6,599,400 7,691,600 /1,092,200
= 3,882,000
S 2,717,400
403 AXIEHMSA=01d 6,599,400 7,691,600 1,092,200
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FA S H
A MEEA JHH(EE/HDIIZ)
=l BOISX2AlE i% (CHol &S1)
SA - ZE . BRA(8) - HRAR - BES of v e HIDE2
= 3,882,000
=S 2,717,400
01 XM= 2L 6,599,400 7,691,600 21,002,200
O3 =HE X 5,018,400
= 2,952,000
< 2,066,400
OZ3HdEAI4 SHs 1,581,000
= 930,000
= 651,000
sS4 HOI2 HMelAlg ZXI( ) 161,500 408,000 A246,500
= 95,000
=S 66,500
403 AXIEHMSA=01& 161,500 408,000 A\246,500
= 95,000
== 66,500
01 AXISHHA 22 % 161,500 408,000 A\246,500
OSA=F HJI= XMelAld €X 161,500
= 95,000
& 66,500
SHOUXIEt2 ZEAMS(=1) 487,500 1,170,000 A682,500
= 375,000
= 112,500
403 TR SHMSAH=01H 487,500 1,170,000 682,500
= 375,000
=S 112,500
01 AXISHHA =2 £ 487,500 1,170,000 682,500
ozB0UHXEZE =4 487,500
= 375,000
[ 112,500
HOIEXCIAIE 885 2cl 3,400 0 3,400
202 04| 3,400 3,400
01 2K 3,400 3,400
OHPI==20F RN 3,400
HY2AZH(SZEA D) (DIEH/DIE 53,008 49,403 3,605
Jl=3H| 53,008 49,403 3,605
2A2g Jl=23tl 53,008 49,403 3,605
201 fer23| 36,608 37,117 2509
01 AtR2t2|Hl 34,608 34,117 491
ORAN2E A2t/ 34,608
02 s3=gHl 2,000 3,000 A1,000
ORAEE 3524l 2,000
202 04| 12,200 8,086 4,114

- 692 -




of
i’
oF
uJ

-

KIO

Hlw

4,114

MEE
Ofl &k2h

8,086

4,200

4,200

ol &rey

12,200
12,200
4,200
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